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QUESTION 1

An administrator needs to increase the number of desktop resources in a dedicated assignment manual pool. This pool
is made of unmanaged virtual machines.

What should the administrator do?

A. Create additional virtual machines and add them to the pool as desktop sources.
B. Edit the pool settings to increase the minimum number of desktops.

C. Change the vCenter Server settings in the pool to Provision on demand.

D. Increase the number of available replica virtual machines in View Composer.

Correct Answer: A

QUESTION 2
A View environment consists of a Connection Server named connect-01 and a security server named security-01.

An administrator needs to configure RSA SecurID authentication for external users. Internal users must not be prompted
for the RSA SecurlID token code.

What should the administrator do?
A. Configure 2-factor authentication on the security-01 security server.
B. Configure 2-factor authentication on the connect-01 Connection Server.

C. Add a new Connection Server named connect-02 for internal users. Configure 2-factor authentication on the
connect-01 Connection Server.

D. Add a new security server named security-02 for internal users. Configure 2-factor authentication on the security-01
security server.

Correct Answer: C

QUESTION 3

An administrator is granted access to a vCenter Server with a custom Active Directory user account. The user account
should have the required permissions for full management of the View environment. However, when the administrator
attempts to enable View Storage Accelerator, permission is denied.

Which View privilege within vCenter Server needs to be configured?

A. Storage Views > View

B. Global > Act as vCenter Server

C. Host.Configuration > Advanced settings

2V0-651 PDF Dumps | 2V0-651 Study Guide | 2V0-651 Braindumps 2/3


https://www.pass4itsure.com/2v0-651.html
https://www.pass4itsure.com/2v0-651.html
https://www.pass4itsure.com/2v0-651.html

VCE & PDF https://www.pass4itsure.com/2v0-651.html
a 2024 Latest passditsure 2V0-651 PDF and VCE dumps Download
== / PassditSure.com

D. Virtual Machine.Configuration > Modify device settings

Correct Answer: B

QUESTION 4

An administrator is adding a new desktop pool for a business unit that has recently started using Virtual Desktops. A
new Organizational Unit (OU) has been created beside the original OU.

During provisioning of this new pool, the administrator receives an error message stating that creation of the computer
accounts failed. The same View Composer domain account is being used for the existing pool and the new pool. The
existing View Composer domain account is still functioning correctly for the original desktop pool.

What is causing the failure to create the computer accounts?

A. The Parent virtual machine being used for the pool has not been enabled for use in the new OU.

B. The new OU does not have the correct View-specific GPO settings applied.

C. The existing domain account is being used by the original OU and is locked for use on the new OU.

D. The new OU does not have the correct permissions applied for the View Composer domain account.

Correct Answer: D

QUESTION 5

Users at a branch office are experiencing poor virtual desktop performance. The branch office has ten users and a
2Mbps link to the datacenter.

Some of the users frequently access video content, but the performance issues began occurring after a recent Group
Policy Object (GPO) change. The performance issues do not occur when the same users connect from the main office,
which has a 10Mbps link to the data center.

Which PColP GPO change is most likely the cause of the performance issues?

A. Turn off Build-to-Lossless = Enabled

B. PColP session audio bandwidth limit = 100kbps

C. PColP client image cache size = 260MB

D. Maximum PColP session bandwidth = 4Mbps

Correct Answer: D
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